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Wwohnzimmer 401 x551 = 22,09 |gm
Esszimmer/Diele 526 x201+1,28x1,75 = 12,77 | qm
| Schiafzimmer 351 x3,385 B 11,88 |gm
J 3,51 x2885 = 10,12{gm
Kdche 351 x2.28 = |- 793|gqm
Bad/WC 1380 x1,76 = 8,33 |qm
: 11,28 x 2,00 = 2,52/ gm
2wischensumme = 73,63 qm
abzliglich 3 % Putz = | -220[gm
Z2wischensumme = 7144 qm
| Terrasse UG
‘ iberdeckt |2,80 x2,40x50 % = 3,36 | gm
nicht Oberdeckt |6,00 x240x50 % = 7,20 | gm
[ Gesamtsumme l ‘ = 81,99 gm
| Wohnfliched6

(Wohnung 86~ O .

Wohnzimmer 5,885 x 5,51 + 2,00x 0,24 - Kamin 250x0,60 _|= | 3140[qm
Esszimmer 786 x2,51+251x024 a 7.52|qm
Schiafzimmer 8,76 x 3,635 = 24 57 |gm
Kinderzimmer 451 %3135 = 14,13 |gm
Khche 4,195 x 2,385 =. | 10,00{gm
Hauswirischafisraum (401 x 1,385 = 555/am
%_ 407 x251 = 10,21 |qm
WC-. 2,385 x 1 = 3,00 qm

Flur 2,76 x1635+1,10x0,80 = 5,50 qm
Diele 2,76 x3,80 . = 10,48 [gm
[Windfang _ 2,385 2,135 = [ 500[qm
Zwischensumme ookt e = 127.45

‘ ;;;M s2mg ich 3 % Putz = | -382 qm
e ‘ = | 12363|qm

=, 288|qm _
= 3,27 |gm

- 3,81 |gm .
= 1133,55]qm

215,58 qn;




